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Raise your hand to answer me.
Each group sends two people to the front.
Share your ideas with everyone.
2.7 A REMACR * AFHPE F Ao E o blde
hungry ~ pizza goat ~ walkway ~ as much as it can------
3.7 W o AA R E o bide
T : What shape is a pizza?
S ‘Itisacircle.
47T R A TRE R L EYIOEF o bl
radius ~ diameter * circumference ~ PI------
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1. You can use English or Chinese to answer me.
2. Raise your hand before answering the
question.
3. When I say, “Eyesonme,” vyou say, “Eyes
on you, then stop everything you re
doing and look at me.
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T : It" s almost lunchtime! Are you hungry?
S :Yes! I am so hungry!
T : Oh~ Because you are hungry. You want to buy ERUESERELE Bag

a pizza. Look at the flyers. How to know which

one is cheaper? ERATE - Bl w7
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T : Bingo! Excellent! Divide the price by the size
of the pizza; the smaller one is the cheaper
one.

T : What shape is a pizza?

0p]

- It 1s a circle.

T :What have we learned about a circle? Raise your
hand to answer me.

S1 : Radius * /&

S2:Diameter ® /&

S3 : Circumference % &

S4:PIR% 5

T : Yes! Thank you for your answers. How do you
calculate the circumference of a circle?

S1 :Diameter times PI equals circumference.

S2 :Twice the radius times PI equals the
circumference of the circle.

T : These two answers are both correct. Because
two times radius is equal diameter.

T : Back to the pizza question. What do we need
to know about the circle?
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T : That’ s right!
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T : It" s great! Just as Sl said. RI¥H4Bi € 7
F] %7A; sector’ m sector ¥ ™ *7 = — i triangle
Fo— B 3 A5 o FRF|T upH s e fF LAIEL?

T : Let’ s think about it. If you keep folding it
in half, will the 35 3, (arcuate) get bigger
or smaller?

S :Smaller. 5 ) f € F#F %] °

: What shape do these parts look like?

=

S : The sectors will look like triangles | 34
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T : Bingo ! When we keep folding, the sector will
become smaller. = iﬂjﬁﬂ}%i%ifug X HiT 57
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T : Now, let’ s try using this observation to
derive the formula for the area of a circle!
Each group, please write down your ideas on
the MIRO.
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T : Each group sends two people to the front. Share
your ideas with everyone.
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(1) What is the area of the pizza at Store A?
What is the area of the pizza at Store B?

(2) Which store’ s pizza is cheaper ?
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T : Let’ s read the question in Chinese together.
T : Which area are we supposed to calculate?
S1
S 2 : Orange area.

: Walkway.

T : You are right.

T : How many circles are in the picture?

S : Two.

T :Come to the front and point to where the circles
are.

S (¢ ;;}%mﬂ'yffﬂ\,]\@)

T : The area of small circle represents the area
of the pool. What does the area of the large
circle represents?

S @ It represents the area of the walkway plus the
area of the pool.

T : Bingo! Now, you have got the key point of this

question. Try to find the answer by yourself.
XF BHEL TR L A4
(2)] 2Pt
T : Please discuss 1t with your team members.
-
T : Which group would like to come to the front

LA

and share your solution method?
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T : Does anyone know any patterns that are made
up of circles? If you do, raise your hand to
answer.

S : Mickey Mouse.

T : That’ s a good answer!

T : When you are designing a pattern, you re also
welcome to draw your own simple shapes!
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T : When the door opens, what shape does it create
on the floor?

S : Sector!

T : Yes! You are great! &P fghs ? o 24
L, meag B+ G- 2 2 oHow to calculate the
area of this sector ?

T : You can look at the picture and think about
it.
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T : Please discuss 1t with your team members.
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T ¢ Scan the QR code and enter MIRO. Write each
method on a separate piece of note paper.
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T : Let’ s categorize your idea.
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T : You' ve already learned how to find the area
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of a sector; now let’ s try a harder chal lenge!
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T : Have you ever seen this pattern before?

S :Yes!

T : Where did you see it ?

S ‘I noticed this pattern on the tiles of the
classroom floor.

T : Excellent! You have an impressively sharp eye

for observing your surroundings.

T :Within this pattern lies the shapes we’ ve just
learned. Now, let’ s try to find them and
calculate the area of the white sections.
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T : There is a goat tied to a corner of the barn.
The rope 1s 6 meters long. The goat is so
hungry. It wants to eat the grass as much as
1t can.

T : The goat starts walking.

T : Can the goat keep walking?

S Yes, it can.

T : Can the goat keep walking?

S :No, it can’ t.

T : Why can’ t the goat keep walking?

S ! Because there is a barn. A AIFELT o

T : You are great! Now, you can see the area of

grass that the goat can eat. What shape is
this?

S1:1t is sector.

S2:i&E %3

T : Bingo! Let’ scalculate the area of grass that
the goat can eat.
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T : Try to use this to draw the maximum area of
grass that goat can eat and calculate the
area.

T : Come to the front and share your ideas with
everyone.
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T : Group 1, please read your question.
S (Group 1) : What is the area of the ?

S (Group 2):
6. » &1

[t 1s  square centimeters.
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